There are 2 bees. The small bee can carry 2 flowers, and the big bee can

carry 3 flowers. They always gather flowers from across the river.

How many times does each bee need to cross the river to bring back
all the flowers?

How to count: From hive to flower = 1time, Flower to hive = 1time
<Rules>

The small bee cannot cross alone. The big bee can cross alone.

It's okay if the bees don't always carry the maximum number of

flowers.
When there are When there are \
10 flowers 11 flowers
When there are When there are
13 flowers 24 flowers
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